
Another Way of Describing 
What’s Typical
Answer as many questions as you can. If the graph or 
table does not provide a way to figure out the answer, 
write “Cannot tell.”

 Morgan made a graph to show the ages of children in her 
neighborhood that were in kindergarten through fifth grade.

CHILDREN’S AGES
5 76 118 109

 • How many children does  
  the graph represent? 10

  

 • What is the median age? 7

   

 
  • How many people live in the U.S.? 

  cannot tell

 • What is the median population of 
  the 9 most populous U.S. cities?

  1,479,339

 Which statement is NOT true for this data set?

10, 12, 14, 8, 14

A. The mode is greater than the minimum.
B. ! The median is greater than the mode.
C. The mode is the same as the maximum.
D. The range is 6.
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